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| i. Establish new monsoon data. |
l 2. Establish new typhoon data. |
! S. Perform random Lo grid processing. {
| 4, Perform wave forcasting. i
| 5. Output from screen. i
| 8. Output from printer. |
[ 7. Output from piotter. i
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s BB BE R exn

MESH PROGRAM FOR CENTRAL WEATHER BUREAU
KNOWN 13 POINTS® LCNGITUDE,LATITUDE,WIND SPEED,wINC DIRECTION.
METHOD: 8Y FEM SHAPE FUNCTION.

OO0

PARAMETER NMESH=89
INTEGER=:4 YEZAR
INTEGER%:2 MINTH,CAY,HQOUR
DIMENSIQON NPL1CNMESH) yNP2Z(NMESH) , NP3 (NMESH)
DIMENSIGN VX(NMESH),VY(NMESH)yV(NMESh),THITA(NMESH)
DIMENSION X13C13),Y123C13),XCNMESH) , Y(NMESH)
REALS LGN13(13)9LAT13(13),LCN(NMESH);LAT(NMESH)
DIMENSIIN THITA13(13),VX13(13)sVY13(13)9V13(13),NOIR13(13)
DPEN(UVIT=1p‘ILE='KNCNN13.DAT',FSRM='FCRMATTEO',STATUS='GLD')
DPEN(UNIT=2,CILE='MESH.DAT',FCRM='FORMATTED',STATUS='DLD')
0PEN(UNIT=6,=ILE='CHECK.DAT"FCRM='FCRMATTED'pSTATUS='NEW')
DPEN(UNIT=10,FILE='CUTPUT.CAT',FCRM='FDRMATTED',STATUS='NEN')
20 52 I=1,13
READC1,%) LONLI3CI),LATI3(CI)
WRITE(&,%) '*PCINT NO OF KNOWN 13 POINTS= 'WiI
WRITE(6,%) '"LAONGITUDE= ',LON13(I)
WRITE(S,%) 'LATITUDE= *,LAT13(1)
52 COGNTINUE
03 70 I=1,NMESH
READ(2,y:) LONCIDHLATCIDZNPLICIDZNP2CIDHZNP3CI)
WRITZ(6y) 'FCINT NC OF MESHED POINTS= 'yl
WRITEC6,) '"LONGITUDE= ',LONCI)
WRITE(S,%) 'LATITUOE= ',LATCI)
ARITECA %) 'AP1CI)=',NPLIC(CI)
ARITECE %) 'NP2(ID=',NF2(I)
ARITE(CH,y:) 'NP3(CID='",NF3(CI)

70 CONTINUE
500 READ(14:%:,END=999) YZARVMGNTH,0AY,HZUR
WRITEC10,118) YEAR,MONTH,DAY,HOUR
118 SORMAT('1',1CATE: TalaytytylZy 12, ", T2,':00)
WRITECE,128) YZAR,MONTH,0AY,+JUR
128 FORMAT('1','DATE: YTyt a2, gy I2,0,',12,%:00")
WRITZ(10,100)
100 FORMAT(C' POINT',1X,! LONGITUCE' y4X,y "LATITUSE 42X, 'WIND SPEED' 43X,

% "WINZ CIRLY)
20 50 I=1,13
WRITEZ(S,%) 'FOINT NO CF KNOWN 12 PCINTS= 'y I
READC(1y%) V1I3(I),NDIR13(I)
ARITE(S,%x) 'W13(Id= ',v1i3(CI)
WRITE(6,3) *NDIR13(I)= ',NDIR13(I)
NOIR1=(12-NDIR13(CI))
IFCNDIRL .GE. 0) THITAI13CID=NOIR1%22.5
IFCNCIRL JLT. 0) THITA13(I)=340.+N0IR1:22.5
VX13(I)=V13(I)=COSOCTHITALI3(CI))
VY13(I)=V13(IDHSINDCTHITALZCID)
WRITZ(64%) 'NCIR1= ', NDIR1
WRITE(CSy#) *THITALI3(',I,')= 'y THITAL12(I)
WRITECH,3%) *VX13C*',I,')= *,yx13(I)
WRITECS,3%) *VYI3C',I,')= ',VvY13(I)
50 CONTINUE

00 30 J=1,13

Xa=118,

YA=16,




(@)

eNeNeNeNe]

11

WRITE(CH,%)'PLINT NC CF XNOWN 13 POINTS=',y
WRITE(CH,%:)"XAa="',XA
WRITE(S,*)'Y5=' )YA
WRITECS,%#)'LENI3CUD)=",LON13CY)
WRITE(CS,)'LATI3CUI=",LAT12CJ)
CALL LONLATOISTCXA,YA,ZXA,LAT13CJ),DIST)
CALL LONLATOIST(XA,YA,LON1I3CJ),YA,DIST)
X13(¢J)=0IST
WRITE(CE,#)*X13CJ)=",Xx123¢CJ)
CALL LONLATOIST(XA,YA,LCN13CJ),Y2,0IST)
CALL LONLATOIST(XA,YA,XA,LATI3CJ),0IST)
Y13(J)=DIST
WRITECH,y=:)'Y13(JD=2,Y13(CJ)
CONTINUE

32 111 J=1,NMESH
WRITE(Sy%)'"PCINT NC CF MESH=',J
WRITECS ) LONCII=Y,LCNCY)
WRITE(CA,:)'LAT(JI=",LAT(Y)

CALL LONLATOIST(XA,YA,XA8,LATCJ),0IST)

CaLL LONLATOISTC(XAy YA LZLENCU)yYA,0IST)

X(J)=DIST
WRITZ(S,y )" X(JI)=",X(J)

CALL LCNLATOIST(XA»YALZLENCU)yYR,DIST)

CALL LONLATOIST(XA,YRAyXAyLATCJ),CIST)

Y(J)=DIST
WRITECOy#:)'Y(J)=t,Y(J)

CONTINUE

DO 80 I=1,NMESH
TYPE =y "X13(NP2CI))=t,X12(NP2CI))
TYPE 2, "X13(NP3I(I))=",X13(NP3(CI))
TYPE =52y "X13(NP3CID)=",X13(NP3CI))
TYPE %, *Y13(NP2CI))=",Y12(NP2(CI))

AIl11=X13(NP2(CI))
WRITE(S,==)'AT11=",41I11
AT112=Y13(NP3(I))
WRITE(H,)'AT12=",AT12

AIl=AI11%4112

WRITECSy*)'AIl=' )AIl
8I121==-X12(NP2(CI))
WRITE(6,y)'AI21=",A1I21
8I122=Y13(NPZCI))
WRITE(A,#)'AI22=4,48122
AI12=~X13(NP3(ID)HY1I3(NP2CI))
AI2=AI21%4122

WRITE(Sy=)*aI2=1,A1I2

AI=AI1+4A12

WRITE(byu)tAaI=",A]
WRITE(S,y%) " X13(NP3CIDX)="*",X13(NP3(CI))
WRITE(S,%)'Y13(NPLIC(ID)=",Y13(NPICI))
WRITECSy=)'X13(NPLICI))=",X13(NPICI))
WRITECSy#)*'YI3(NPIC(ID)=",Y1I3(NP3(I))
AJ=X13C(NP3CIDI*=Y13(NPLCID)=X13(NPLICID)=YLI3(NF3ICI))
WRITE(G,y=)'AJ="',4J .
WRITE(CHy*)"X13(NPLICID))=",X13(NPLICI))
WRITE(S,%)'YI3(NP2CI))="*,Y13(NP2CI))
WRITECS,%) " X13C(NP2CI))=",X13(NP2CI))
WRITE(5,%) ' YI3(NPLICI))=",Y13(NPICI))



AK=X13(NPLICIDI®RYLI3(NP2CID)=X13(NP2CID)uY13(NPLICI))
WRITE(6,k)'AK=",4AK
WRITE(H, %) YLIIC(NP2CI))I=",Y13(NP2CI))
WRITECA,=:)'Y13(NP3CI))=",Y13(NP3(CI))
BI=Y1I3(NP2CI))-Y13(NP3(I))
WRITE(S,yx:)'8I=",21
WRITE(CA,%:)YY1I3(NP3(ID)=?,YI3(NP3(ID)
WRITE(H,%) ' YI3(NPICID)=",Y13(NPICI))
BJI=YLI3UNF3CI)I-Y1I3(NFLI(CI))
WRITE(H,)'8y=1,E4
WRITE(S,%)'Y1I3(NPLICID)=",Y13(NP1ICID)
WRITE(COH,HDIVYI3CNP2CIDD)=",Y13(NP2CI))
BK=Y13(NPICID)=-Y1I3(NF2CI))
WRITE(6’*)'EK=',3K
WRITE(H,y )" XI3(NPICII)=,X13(NP3(CI))
WRITE(CEy=) " X13C(NP2CID)=",X13(NP2CI))
CI=X13C(NP3CIDI=X1A(NF2CID))
WRITE(CE,yu)'CI=t,CT
WRITE(H,#) " X13(NP1CID)="yX13(NPICID)
WRITE(K )" X13(NP3CIII=",X13C(NPICI))
CJU=X13(NP1CID)=-X12(NP3(CI))
WRITE(Ay:)!'CU=',CJ
WRITE(S,#) ' X13(NF2CIII=",X12(NP2CI))
WRITECH =)' X13(NPLICID)=",X13(NPICID))
CK=X13(NF2CII)=-X12(NP1CI))
WRITE(Hy=)ICK=',CK
WRITE(CA,#:)'X13(NP2CTID)=",X12(NP2CID)
WRITE(A,%=)'YLI3(NP3CID)I="yY1I3(NP3(I))
WRITE(S,y%:)"X13(NP3CINI=",X13(NP3(CI))
WRITE(Oy=)'YLI2(NP2CID)=",Y13(NP2(CI))
WRITE(O %) " X13(NPLICII)=*,X13(NPLICI))
WRITE(Ay)PYI3(NPLICID)="yY12(NPICI))
BREA=QLS5=C(XI3(NP2CIDINRYLIICNPRCID))
=X13(NP3(ID)==Y13CNP2CIY)
+YL13(NP2CIDIX13(NPLICID)=-Y1I3(NPCIDIAX12(NPICID))
+X12(NP3ICINIRY1I3CNPLICIY)
=X13(NP2CID)=Y13(NPICID)Y)D
WRITZ(6,y)"AREA=",AREA
WRITE(SE,y=) ' X(I)=,X(CI)
WRITE(S,y=)'Y(IDd=",Y(I)
ANI=CAT+2I0XCI)+CIkYCI))/2./74REA
ANJ=CAJ+BURXCID+CU=Y(CI))/2./78RE8
ANK=CAK+BKXCIX+CK%=Y(TI))/2./78REA
VXCID=ANISEVX1I3(NPLICID)+ANISVXLI3CNP2CID)
+ANKREVXLI2(NPSCIN)D
VYCID=ANT=VY13(NPLICID)+ANJRVYLI3(NP2CI))
+ANKR:VY13(NP3SCIDD
WRITE(A,=)*ANI="*,ANTI
WRITE(Oy =) VANI=Y,ANY
WRITE(H ) ' ANK=Y, ANK
WRITE(Ey3)'VX(CLI)=',VX(I)
WRITE(A,=)'VY(Id=t,vY(I)
TVX=VXC(I)
TVY=VY(I)
WRITE(Sy:) 'VX OF MESHEL PCINT ', I,'= ',VX(CI)
WRITECS,y%) 'VY GF MESHED PQINT ¢,I,'=
VCID=SCRTCVX(ID w2+ VY (I)H2)
WRITE(by2) "W TF MESRED PQOINT YyIyt= 'Y,V(D)

— 48 —



OO0

IFCTVX .GT. 0 JAND. TVY .GT. 0) THEN
THITACI)=ATANCCTVY/TVX)
ELSE IF(TVX .LT. 0 .AND. TVY .LT. 0) THEN
THITACID=ATAND(TVY/TVX)+180.
ELSE IF(TVX .GT. 0 .AND. TVY .LT. 0) THEN
THITACI)=ATANDCTVY/TVX)+350.
ELSE IF(TVX .LT. 0 .AND. TVY .GT. 0) THEN
THITACI)=ATANCCTVY/TVX)+180.
ELSE IF(TVX .EC. 0 .AND. TVY .GT. 0) THEN
THITA(I)=90.
ELSE IF(TVX .EC. O .AND. TVY .LT. 0) THEN
THITA(CI)=270.
ELSE
END IF
WRITECSy) '"WIND CIRECTICNS= Yy THITACI)
WRITE(C10,120) IHLONCID,LATCI),V(I),
THITACI)
CDQMAT(ZX,IZ,BX,FIO.3,3(2X,F10.3);IS,3X,IS,3X,IS)
CONTINUE
GO TC 500
CLCSE(UNIT=1)
CLOSECUNIT=2)
CLOSECUNIT=10)
STCP
END

SUBROUTINE LONLATOIST(XA,YA4,XB,YR,0IST)

XAt LONGITUDE OF PCINT A,

YAD LATITUDE GF PZINT A,

X5: LONGITUDE ZF PGINT 3.

YS! LATITUDE OF PCINT 3.

0IST: DISTANCE FROM FCINT A4 TGO POINT E.
XA2=XA-XB

YY&=9(0-Y4

YY3=90-Y3

A1=ABS(XxAa8)
42=CGS2CA1)
A3=SINDCYYA)
A4=STNOCYY3)
45=C0S2CYYA)
46=C0S53(CYYR)

DO=CCSD(AES<XA3))*SIAD(YYA)*SIND(YYE)+CCSS(YYA)*CGSD(YY5)

IFCOC «GT. 1.0) TrEN
DIST=0.
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OO0

(e NaNe]

1011

1013

1015

OO0

OO0

3012
3011

aNeNe]

3050
3022
3021

FAM FOR MIDO OFFSHORE ANALYSIS CGRID METHOD)]
FIND CURSI VALUE

CHARACTER::2 PA

CHARACTER=:25 WIND,WAVE,CQUTPUT

DIMENSION WS(40,150),WC(40,150),TIMEC40,150)

DIMENSICN WSM(40,150),W0OM(40,150),RLC40,150)

DIMENSICON WLGNC150),WLAT(150),H13(¢50),T13¢50)

DIMENSION UMEANCS50),CURSIC(S50),GT13(50),GTOURCS0),GF(50)
DIMENSION IYEAR(40)yIMONT(40),IDAY(40),IHCURC4O),IMINCS4O)
DIMENSION IY(30),IM(C30),I0C30),IHC20),IMI(30)

DIMENSION XL(500),YL(5C0),XXC200),YUC200),YDC200)
DIMENSICN YY(2C0),xUC200),%X0C200)

ENTER THE DATA NAME

WRITE(5,1510)

FCRMAT(SX, "ENTER THE WIND DATA FILE FGR INPUT *,3)
READ(S5,1011)WIND

FORMAT(CA25)

WRITE(S,1013)

FORMAT(SX, "ENTER THE WAVE CATA FILE FCR INPUT 1',3)
REAC(5,1011)WAVE

WRITE(S5,1015)

FORMAT(S5X, 'ENTER THE QUTPUT CATA FILE ',$)
REAC(5,1011)50QUTPUT

OPEN FILEZ

DPENCUNIT=104FILE=WINDyFCRM=IVFLCRMATTEZD',STATUS='CLD')D
OPENCUNIT=20,FILE=WAVE,FCRM='"FCRMATTED',STATUS="2LD")
OPENCUNIT=30,FILE=CUTPUT,,FORI¥='FORMATTED',STATUS='NEW"')
OPENCUNIT=40,FILE=" LAND.CAT',ZJRM='FORMATTEC',STATUS="'QLD")
OPENC(UNIT=50Q,FILZ="XLANC.CAT',FLRM=YFORMATTED,STATUS='CLD")
CPENCUNIT=404FILE='YLANCLCAT 'y FCRM="S0RMATTED",STATUS='CLD")

RZEAD LAND 0ATA
0¢40+3011,END=3050)XLCI),YLCI),IC2DE

MATCLXyF6e292X3F6.2,42%,12)
IC3DE.EC.S59) GC TO 2050

X P

+
[

G T X0 A
DN mmomn

TC 3012

READ XLAND DATA

II=1
REAC(50,3021,END=3060)XXCII),YUCII),YD(II),ICCOE
FORMATC(LIX)FB.292XyFbe292XyF842,42%,12)
IFCICODE.EQR.99) GO TC 3060

II=II+1
GQ TO 3022

READ YLANC DATA

III=1



3032 READ(60;3021,END=3070)YY(III),XU(III)yXD(III),ICOOE
IFCICCDE.EC.99) GG TO 2070

ITII=III+1

GO TO 3032
C
C ENTER THE INITIAL VALUE
C

3070 WRITE(S5,1017)

1017 FORMAT(SX,'SNTER THE TOTAL WINC GRID NUMEER QD! Yy$)
READ(5,1018)NG

FORMATC(IZ)

[}
—
[+¢}

N : WIND DATA NUMBER OF CALCULATE CURSI ONCE
DT : WIND DATA TIME INTERVAL

OO -

pcq

-0 X X
< uou
[N

O~ -
D= | B | B I ]

Hnooo
0

-

0
0
11.1%111.,1

READ IN WIND AND GRID P2SITICN CATA

DO 15 I=1,NG
READC104,11) WLON(CID,WLAT(CI)D
FORMAT(AL1X4F4,2,2XyF3.1)

wm

—

NAa TOTAL DATA WIND MUMBER
I UATA NUMEER 6 HOURS HAVE GNE SO ONE DAY HAVE &
J ¢ GRID NUM3ER ALREACY HAVE £S5 PCINTS

OO0, OO MO

Na=1 .
171 READ(IO’113;ENC=17)IYEAR(NA)yIMDNT(NA),IDAY(NA),IHOUF(NA),IMIN(NA)
113 FGRMAT(TX,IA,1X.IZ,1X,IZ;1X,IZ;1X,I2)

READCLO,)

00 16 J=1,NG

READ(IO,12,ENO=17)WLGN(J),NLAT(J),WS(NA'J),ND(NA,J)

12 FGRMATCIOX,F7.3,SX,=7.3,SX,F7.3,SX,F7.3)
146 CONTINUE
NA=NA+]
Gd TC 171
17 WRITE(S,172)NA
172 FORMAT(S5X,"4IND DATA NC. Na= tyI13)
C READ IN wadVE CATA
C
K=1
18 QEL\D(ZO.11oEND=181)H13(K),T13(K)
K=K+1
GC TC 18

181 WRITE(5,1019)
1013 FIRMAT(SX,'ENTER THE WAVE STATION POSITICN ',/1X,'XMXMXM
YMYMYME )
READ(5,1020)XM,YM
1020 FORMAT(FE.141XyF5,1)
WRITE(5,)1021)XxM,Y¥
1021 FORMAT(S5X,'XM= ' ,Fg,.1,'YM= ‘yF6.1)




- OO0

[¥3)

OO0 [aNaNe

wy
o O

OO Wm
[l w
o
no
fo

—
O

(s
(o]

OO D

OO

O

OO

RESET INITIAL VALUE

OUR=0.
SyuBg=0.
SMUDOR=0Q.,
SMDR=Q.
SUMsx=0,
DELT=0.

€=0.
LOAD 4 SUBSERIES WIND CATA

S ]
OC 40

-
n u

1,NG
1y N
12 ¢ TOTAL WINT DATA NUM3ESR

IFCCI+MM) ,GT.NA)Y GC TO 939
WSMCIZJ)=wSCI+MM, J)
WOM(T 3 Jd)=uwlCI+MM, )
CONTINUE
CONTINUE
D8 55 I=1,N
N?ITE(S,IZ)WSM(I91),ND”(I,1)
WRITE(S5,1021)
FORMAT(S5X,'ENTER THE WAVE DATA (Fé.2) Y4y /1X,'"H13H13
- T13T13')
READ(S,1022)H413,T13
FCRMAT(IX4FR.2,1X,FE.2)
HSQCG=1.225*H13(M)*H13(M)$TI3CM)

FIND CURSI varLuycs

C2 1C0 J=1,NG

XA=WLONCJ)

YA=WLATC(J)

IYCM)=TIYZAR(N+V)
IMCMI=IMINT(N+M)
ICCMY=TICAY(N+M)
IM(M)=TIHOUR(N+M)
IMICM)=TMINC(N+M)

CALL DISCXA,YA,XM,YM,R)

CALL ANG(XMyYM,XA,Ya,C2,IZ502)

CA I AREL DF GRID AT (XA,YAa)

DA=2*3.14159*6366.71**2.*AES(CGSD(?O.S-YA)-CDSD(EQ.S—YA))/360.
IF(F.LE.R) F=R
ISER=1 WAVE PTSITICN AND GRIC IS SUPERECSITICN
WRITE(S54202)IEER
FORMAT(S5X,'ISESR= ', 1I2)
IFCIEER,E3.1) GO TC 100
0C 200 I=1,N
WOMCTI,J)=WlM(I,J)
RE(I,J)=O.S*NSM(I,J)*(TI+(N-I)*OT)*3.6
TEST BETWEEN ANGULE IT MUST LESS 90.
SETA=ABSCCO-WOM(I,JU))

_.52._



TFC(EETA.GT.1892.) BETA=340.-EETA
c WRITE(5,204)8ETA
C2904 FORMAT(5X,'3ETA= ',F6.2)
IF(BETA.GE.90.) GO TG 200

CONSIDERP THE SHELTERING EFFECT
JEER=1 IS SHELTERING EFFECT CCCURE

OO0

CALL SHEILTCOXA YA XMy YMy XX, YU YD, YY, XUyXDyXLyYL,
~I,I1,III,JEER)
IFCJEER.EQ.1) GO TC 200
TEST THE WAVE PRCPAGATION DISTANCE
WRITE(S5,206)RL(I4J),R
205 FORMAT(SXy'RL(IyJ)= *yF3,2,'R= ',F8,2)
IFCRLCTLJ).LTL.R) GC TC 200
CACULATE THE CNE CURSI vaLus
SUUEB=SUUSB+WSM(I,J)%WSM(I,J)=COSOCRETA)#COSDCIETA)
—EXP(~0.08:4R/(WSMCIJIWwSM(I,J))I%0A/R
SMUCR=SMUDR+WSM(I,J)
SMOR=SMCR+1
SUMSK=SUMSK+SUUBEXWOM(T,J)
DELT=TI+(N-I)=CT
IFC(DUR.LELCELT) DUR=DELT
200 CCNTINUE
100 CCNTINUE
IFCSUUBB.LT.0.00001) GO TO 12887
WAVDIR=SUMSK/SUURSB
TDUR=TI+0DUR
WRITE(S5,199)S5Uu38
139 FORMAT(1X,'SUUBB= ',£8,2)
UMEZAN(CM)=SMUDR/SMIR
CURSI(M)=HSGCG/SUURE
GT1I3(M)=1.559719T==T13(%)/UMEAN(NM)
GFR(M)=G,.8xF%1000. /UMEAN(M) k2,
GTOUR(M)=9,.8:TCUR:3600./UMEANCM)
GC T2 18688
1837 UMEAN(M)=0.
CURST(M)=0.
GT13(M)=0.
GF(M)=0,.
GTOUR(MY=0.
WRITE(S5,1023)
FORMAT(5X,'00 YJU WANT TQ CCNTINUE 2 (YE) GR (NZ) *,3)
READCE,1024)P4A
FORMAT(A2)
M ¢ COUNTER CF CURSI
MM VARIABLE CF SHIFT WIND CATA
NN ALREADY HAVE CURSI MNUMBER

OO

(@)

—
o
n
w

—
(]
~N
R

H OO

(S ¢
ao
20

M=M+]

MM=MM+1

NN=M=1

IFCMLLT.(NA=12)>) GO TC 123

WRITE(30,1910XM,YM

191 FORMAT(10X,"'STATION POSITION ',/4X, ' ¥ ON= PyF5.1, MLAT= VY, Fe.1//)
DO 177 K=1,NN :
WRITE(30,189)KyH13(K),T12(K)

189 FORMAT(/5X3I3,2Xy"'hR13= *",F6,2,' T13= ',Fb.2)




WRITEC30,188)CURSICK) 4 IYCK) yIMCK)Y, IDCK) yIHCK),IMI(CK)
WRITE(30,150)UMEANCK)GT13C(K)yGF(K),GTCUR(K)
139 FCRMAT(1X,'UMEAN= ',E8.2,"' GT13= *',58,2,' GF= ¢
-9E3.2y"'" GTDUR= ',E8.2)
177 WRITE(S,188)CURSICK)yIY(K)SIMCK)YyICCK)yIRNCK),IMICK)
188 FORMATC1Xy'CURSI= ',EB8.2y' YEAR= ',I4," MCNT= *',I2
-9 DAY= '4,I2,' HOUR= 1512, MIN= ',1I2)
CALL BARCCURSI,ZNN,LI)
CALL RELCGTOUR,GTLI3 NN,LD)D
WRITE(C30,701)
701 FORMAT(1X,'X = GTDUR , Y = GT12')
CALL RELCGF,GTI3,NN,LI)
WRITE(30,702)
7G2 FORMAT(1IX,'X = GF , Y = GT13'")
CALL REG(GTDURWGT1I2,NN,LI)
WRITE(30,703)
703 FORMATC1X,'LOGX = LOG(GTOUR) , LOGY = LGGC(GT13)*')
CALL REG(GF,GT1I3,NN,LI)
WRITE(30,704)
704 FORMAT(L1X,*'L0OGX = LOGCGF) 4, LGGY = LCGC(GT13)")
WRITE(30,603)
503 FORMATC(/11X,'X = GF TR GTDUR'y5X,'Y = GT13',/1X,'LEGX
=) OR LOGCGTOUR) ' 45X,'"LCGY = L3G(GT13)*")
399 STarp
END
SUSBRCUTINE DISCXA,YA,XE,Y2,000)
XAS=XA-XB
YYA=50-YA
YYE=9(0-Y3
PC=CCSDCABSIXAB))ASINCCYYA)SINSCYYB)+CASOCYYA)RCOSOCYYS)
IF(DD.GT+1.0) THEN
DJ0=0.
ELSE
DE=ACQOSO(DD)
B00=6366.71:22.%3.146159:20FE/34¢C.
END IF
XX1=XA%11143246C0S5CYA8%3,14159/7180.)
YY1l=YA111.32¢4
XX2=X3%111.324%C0S(Y¥B%3,14159/180.)
YY2=YB%x111.324
DOO=SQRTCCXX1=XX2):2,+(YYL=YY2)5s2,)
RETURN
END
SUBRCUTINE ANGCXA,YA,XM,YM,CD,IZ2R)
c OIMENSIGCN CD(50)
DY=va-YM
DX=Xa=-XM
IEZR=0 ;
IF(DX.EQ.0.AND.OY.EQ.0.) GO TO 9999
IF(DXeEQe0.AND.DY.GT.0.) GS TO 505
IF(OX.EG.0.AND.OY.LT.0.) G2 T2 510
GG TC 550
505 C0=0.
GO TQ 600
510 CdD=180.
GG TO 600
550 CO=aTANDCDY/DX)
IF(OX.GT.0.AND.DY.GT.0.) G2 TC 525

[}
N
(]

OO0

_.54._

[y ]



IF(3X.LT.0.) GC TQ 530
IF(DOX.GT.C.AND,DY.LT.0.) GC TO 525

GO TC 6039
525 CD=30-CD

G3 TO 600
539 C0=270.-CD

GO TC 500

9999 IEER=1
500 RETURN
END
SUSROUTINE SHELTCXIoYIoX¥yYMyXXyYUyYDyYY,XUyXDsXL oYL,
-I,I1,I1I,JEER)
c SUSRAUTINE SHELT(XI,YI, XM, Y¥,JEER)
DIMENSION XL(500),YLCSCO),XXC200),YUC2C0),Y0(¢200)
DIMENSION YY(2C0),XUC289),XDC206)
£23=9
79 XMI=XM=XTI
YMI=YM-YTI
IFCASSCXMIDLLT.0.01) GC TC 7590
IFCA3SCYMIDLLT.C.01) GC "¢ 700
D0 670 K=1,1Z
Y=YMI*XX(K)/XMI+(YI*XM’YN*XI)/XMI
IC=CY=YUCK))HCY=-YE(K))
YIOI=(Y=YI)a(Y=-YM)
I‘(YIO.LE.O.AND.YICI.LE.C) GO TC 201
570 CONTINUE
O3 680 K=1,I1II
X=XMI*YY(K)/YWI+(Y~*XI-YI*XM)/YMI
XI0=(X=XUCK))=C(X=-X0CK))
XKIOI=(X=XI)(X=XM)
IFCXIOWLECOANC.XINILLELO) GO TC 201
530 CONTINUE
50 TC 800
140 00 705 K=1,I1
SCYM=YUCKIIHCYM=YO(KD)
XIT=(XXCK)I=XM)(XXCK)=XT)
TFCYIJLLELOLANC W XIDOLLELO) GO TC
7053 CONTINUE
G0 TC 8¢CO
750 00 755 K=1,1I1I1
L.a-(XV-XU(K)) (XM= XC(K))
2YY(K)=YMYIRCYY(K)=YI)
F(K-Q-LE.O.ANE.YI:.LE-O) 5C TZ 201
CCNTINUE
58 TZ 209
201 JEER=1
300 RETURN
END
SUZRIJUTINE BAR(CURSIZN,LI)
DIMEINSICON CURSICSO0)
Y34R=(Q.
30 10 I=1,N
10 YBAR=YBAR+CURSICI)
IN=N
YBAR=YBAR/QN
SIGMA=Q,
90 20 1I=1,
290 SIGMA= SIPMA’(CLRSL(L) Y3A4R) %%

(%]
[ow}
—

75

wn



~

SIGMA=SCRT(SIGMA/RN)
WRITE(30,5)YBAR,SIGMA
FORMAT(1X,/1X4'YEALRS "9E15.5,5X,*SIGMA= ',E15,.5)
RETURN

END

SUBROUTINE RELCUMEAN,ZCURSIHZN,LI)D
DIMENSION CURSI(S50)4UMEANCS50)

SUMX=0.

SUMY=0.

SUMXY=0.

SUMXX=0.

00 2 I=1,4N

SUMX=SUMX+UMEANCT)

SUMY=SUMY+CURSI(I)
SUMXY=SUMXY+UMIANCID®CURSICI)D
SUMXX=SUMXX+UMEANCIDSRUMEANCI)

RN=N

XAV=SUMX/RN

YAV=SUMY /RN

CSCP=SUMXY=-SUMX:SUMY /RN

CSS=SUMXX=-SUMX2SUMX/RN

B=CSCP/CSS

A=YAV-E%XAV

WRITZ(30,42844

FORMAT(1X,/71X,'Y = *,E15,5,' X 4+ ',515.5,/1X, 'CARTESIAN COCRDIN
BTES')

RETURN

=ND

SUBRCUTINE REG(X,YyNoLI)D

DIMENSICN Y(50),X(C50)

SUMX=0.

SumMy =0,

SUMXY=0.

SUMXX=0.

T80 1 I=1,N

SUMX=SUMX+ALTIGIC(XCI))
SUMY=SUMY+aLDGI10CY(ID))D
SUNXY=SUMXY+ALOGIO(X(I))ﬂAL0610(Y(I))
UMXX=SUNXX+ALSGIO(X(I))*ﬂLDGlC(X(I))
XAV=SUMX/FELOAT(N)D

YAV=SUMY/FLOAT(N)
CSCP=SUMXY~-(SUMX:=zSUMY)/FLTAT(N)

CSS=SUMXX=(SUMX:SUMX)/ZFLDAT(N)D

23=CSCP/CSS ’
L=10.(YAV=-B2XAV)

WRITE(30,42) B,A

FORMATC1X,/1X,* LOGY = *',E15.5,' LOGX + LOG "3yE15.5,71X,'LCG
ARITHM CCORDINATESY)

RETURN

END



sxr ZREREEE R wes

FAM =CR MID CFFSHORE WAVE FCSECASTED CGRID METHOS]
FIND WAVE HEIGHT & PERIGH ‘

[aNeNeNeal

CHARACTER=2 PA

CHARACTER:25 WIND,CUR,CUTPUT

OIMENSICON WS(C260,150),WD(C240,1503,TIME(C240,150)

JIMENSICN WSM(240,150),W0¥(240,150),RLC240,150),CURSIC150)
DIMENSICN WLONC150),wLAT(150),CCC150,45),H13¢50),T13¢50)
DIMENSION IYEAR(CS0) ) IMCNTC60),I0AY(50)yIHIURCL0),IMINCEOQ)
CIMENSION IY(30),I¥(30),I0C30),IHC30),IMIC30)

DIMENSION GT13(50),GTOURCS59),GF(50),WAVOIRC100)

DIMENSICON XLC500),YLC500),XxC200),YUC200),Y3(C200)
CIMENSION YY(200),XUC200),XCC200)

ENTER THE DATA NAME

OO0

WRITEZE(5,1010)

1010 FORMAT(S5X,'SENTER THE WIND CATA FILE FOR INPUT v, 8)
READ(S,1011)WIND

1011 FIZRMAT(R18)
WRITE(5,1013)

1013 FCRMAT(SX,'SENTER T=E CURSI CATA FILE FCR INPUT ',8)
REAU(541011)CUR
WRITZ(5,1015)

1015 FCRMAT(S5X,'ENTER THE JUTFUT DATA FILE Yy 3)
READ(5,1011)0UTPUT

C
C OPEN FILE
C
DPEN(UNIT=10.FILE:NIND,FCRM:'FGRMATTED'»STATUS='CLC')
GPEM(UNIT=20,FILE=CUR,FGRM='FGRMATTEC',STATUS='QLD')
OPEN(UNIT=30,FILE=DUTPUT,FQRM:'FDRMATTEE',STATUS='NEh‘)
OPENCUNIT=40,FILE=" LAND.CAT',FGRM:';ERMATTED',STATUS='CLC')
OPEN(UNIT=SO,FILE='XLAND.C&T',FDRM:'FCRMATTED',STATUS='CLG')
DPEN(UNIT=60.FILE='YLAND.DAT',FORM:'FDRNATTED'cSTnTUS='CLO')
C
C READ LAND DATA
I=1
2012 ?EAC(AD.301I,END=305C)XL<I),YL(I),ICCDE
3011 FORMATCIX Fh,2492X,S4,2,2X,12)
IFCICODELES.93) G2 TC 26032
I=1+1
GS TC 3¢g12
READ XLANC CATA
I1=1

[}
[V 2NV
~N O

QEAD(EO,3021.EMD=305C)XX(II).YU(II),YC(II),ICJQE
WRITE(5,3021)XXCITI),YUCII), YO(CII),ICCOE
FG?MAT(lX,Fé.Z,2x,=5.2,2x,Fé.Z,ZX,IZ)

IFCICCDELEQ.S59) GO T3 30540

iI=II+1

G2 TO 3022

WO WWOOO
[w]

(=]
[aS]
[

OO

RZAD YLAND DaTa



3079
1017

1018

= OOO0OO00O0
w

—
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-

113

183

701

I11I=1
READ(H60,3021,END=307C)OYY(III)>,XUCITII)yXxDCIII),ICCOE
WRITEC6,30210YYCIII)yXUCIII)yXOCIII),ICIDE

IFCICODE.EQ.99) GG TQ 2070

III=III+1

GO T2 3032

ENTER THE INITIAL VALUE

WRITE(S,1017)
FORMAT(3X,"ENTER THE TCTAL WIND GRID NUMBEZR (I3) 'yt)
REAC(CS5,1018)NG
FORMAT(I3)
N=12
M=1
MM=(
DT=5.0
Ti=0.0
Ca=111.1=x111.1

READ IN WIND ANC GRID PCSITION CATA

DG 15 I=1,NG

READCIO0,11) wlLONCID,WLATC(ID
FORMAT(1X,275,.1)
NA=]
READC10y113,ENC=1T7)IYEARCNA) yIMONTINAD) 3 ICAY(NAY,,INCURCNA)yIMINCNAG)
EORMAT(TXyT6y 21X, I291X,12,1X,12,1X,12)

READ(C10,)
DC 156 J=1,NG
REATDCLIO,y12,ENC=1TOWLENCI) s WLATCID ) WSAINR,J)»Wl(NA, YD
SORMATCLIOXyFT o238 XyFTe2y5Xy3FT4245Xy4FT7.2)
WRITZ(6912IWLONCI) yWLATCID ywSINASI) yWlINA,, )
CONTINUE

NA=NA+1
GC T3 171
WRITE(S,1725N4

FORMAT(SX,"WINC DATA NO. NA= ',1I3)

20 18 K=1,33
READC20,1022)CURSIC(K)yCOCK,1D43CTC(K92)9Co(Ky2),CT(Ky4)
EORMAT(IX,S5(23.2,1X))

RESET INITIAL VALUE

IYCMI=TYEAR(M+N)

IMCM)ISIMONT(M+N)

ICCMY=ISAY(M+N)

IHC(M)=THZUR(M+N)

IMI(M)I=IMIN(C(M+N)

WRITZ(30,188)XIY(MIZIMIM)YZIDCM),IH(M),IMICM)

FORMATCLIX,'YEAR= *,I4,"' MCNT= ',I2,' DAY= ',I2,' HJUR= ',12,

'MIN= Y, 12)

WRITE(C3C,701)

EORMAT(S5X,! LON LAT HWSOHSC TSOTSC HSFHSF TSFTSF
WAVDIR ! CCUNT*)

J9 300 K=1,89

XM=Ww LON(K)
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1980
¢

£2005%
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YOO

=W LAT(X)
SUBS8T=0.
Suuga = 0,
OUR=0.
Suuss=0.
SMUDR=0.
SMOR=0.
SUMSK=0.
DELT=0.
F=0.
CCUNT=0.

LOAS A SUBSERIES WIND DATA

00 50 J=1,NG

0C 60 I=1,N\

IFCCI+MNMYCGTL64) GC TO 9293

WSM(T,J)=nwSCI+MM, )

WEMCTI yJ)=WD(I+MM, )
WRITECEYL1I980)wDCI+MM ), WDNM(I,J)
FDRMQT(IX,'WO =',58-2,' WM =',58-2)

CONTINUE

CCNTINUE

FIND H13 & T12 valLusz

00 100 J=1,NG
XA=wlLGNCJ)
YA=WLAT(J)
CALL DISCXA,YayaXM,YM™,R)
caLL ANG(XMyYM,Xa,YA,CD,IEE
QA=2%3.141C935386 T 1%%2 A8
IFCF.LE.R) F=R
IEER=1 WAVE PCSIT
IFCIEERLEG.1) GG TC 1
00 200 I=1,4N
WOMCT J)=wlM(Iv D)
RLAIJI=0.S:WIMCT, ) TI+(N=-1)DT)%3.5
TEST BETWEEZN ANGULE IT MULST LZSS SO.
BETA=ABSCCC-WI¥(I,J))
IF(BETALGT.180.) BETA=360.-85T4
IF(8ETA.GEL90.) GG TO 200

)
(CCSD(50.5-Y4)~-CCSD(85.5-YA))/350,

ICN ANC GRID IS SUPERPOSITION
00

cC TH

T ECT
S

e
CT CCCUrRE

tn 2z

IDER
R=1

rn wn
m
x) -4

H IYI

NG

m M

=
F

cw H

=4

— m

R
L

L/) m

‘S
£

o (0

caLt S“ELT(XA,YA,XV,YM,XX,YU,YC,YY,XU,XD,XL,YL;JEER,
+

=I,II,IIID

WRITECE)1S80IN XA YA, XM, Y4, JEER
FORMATCLXs " N = '3I3,' XA = ',FT7.2," YA = ',F7.2,' XM =
-=7.29' YM = "FT.Z)' JE= "IZ)
IFCA3S(JEZER-1).LELG.005) GG TC 200
G3 73 2003 )
WRITECS5)2005)K ) JEER XLy YA XM, YN

FORMAT(L1Xy*PCINT NCo = ',I4,' JEER = '9I2,' XA= 'yFS5.1,' YA=
=F5.1,"' XM= ',85_ 1, Y¥M=z ' ,F5,1)
G3 TO 200

TEST THE WAVEZ P2JFAGATICN ZISTANCS



2003 COUNT=CCUNT+1
IFCRLCIZUI.LT.R) GO TC 200

c CACULATE THE CONS CURSI VALUE

SUUBQ:NSM(I,J)*NSM(IpJ)$CCSD(EETA)*CDSD(SETA)*

EXP(~0.08R/(WSM(I,J)%=WSM{I,J)))DA/R

SMUBR=SMUDR+WSM(I,J)

SMDR=SMLR+1

C ARITECS,1990)SUUBA,WOMCT,J)

C1930 FORMAT(IX,F10.2,5%X,E8.2)

SUMSK=SUMSK+SUUBAWOM(I, J)

SUUSE=SUU32+5UL3A

WRITE(Hy19G51)SUMSK,SUL8RR
FORMAT(1X,210.2)

DELT=TI+(N-I)=0T

IFCOURLLELSELT)Y DUR=DELTY

29790 COMTINUE

100 CONTINUE
IFCSUUZ28.cG.0.) GO TG 531
IF(SMDR.LE.O0.) G2 TGO 531
A8=2.:23,14155/5.8
WAVOIR(K)=SUMSK/SUUBS
TCUR=TI+DUR
UMEAN=SMUDR/SMIOR

OO
—
D
O
ra

TSF:AA*UMEAN*((?BOO.*F/UNEAN**E.)*CD(K,1)+CD(K,2))
TSD=AA*UMEGN*((35290.*TOURIUME£N)*CG(Ky3)+C3(K94))
HSF=5GRTC(CURSI(K):xC.B82::50U3R/TSE)
HSO=SQRT(CURSI(K)I=0.82%SUUBE/TSD)

GO T2 532
TSF=99.36
T580=95.39
HSF=39,.63
HSD=95,39
2 NRITE(30,41)K,kLDN(K),MLAT(K),HSD,TSD,hSC'TSF,NAVOIQ(K),COUNT
CGQMAT(IX,IB,IX,SFS.Z,IX'ES.Z,ZX,FT.Z
CCNTINUE
WRITE(S5,1024)
FORMAT(S5X,'23 YCU WANT TO CINTINUE 2?2 (Yz)
READ(CS5,1027)P2
FIRMAT(CA2)
Mz=Mae]
MMz=MM4+ ]
NN=M=-1
TPIMLLT.(N2=12)) GZ 7O 123
593 CLOSEC1O)
cLaszqaey
CLCSEC39)
CLSSE(C4Q)
CLISE(CS0)
CLZSE(5¢C)
IND
SUBROUTINE DISCXA,YA8,Xx23,Y2,030)
XA2=XA-X%X3
YYA=9(0-Y24a
YY3=9Q-Y8
DO=CDSD(ABS(XQE))*SIND(YYA)*SINS(YYS)*CGSO(YYA)*CCSC(YYSD
IF(30.6T.1.0) THEN
ODD=90.
ELSE
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CE=4ACCSC(2C)
DOD=6366.713%2.:3,14153:205/340.
END IF

RETURN

EN
SuU

O -4 OQan

BRCUTINE ANGUXA,YA,XM,YM,CD,IEER)
DY=YA-YM
CX=xXa-XxM
IEER=0
IF(DOX.,EC.0.AND.DY.EQ.0.) GC TC 9559
IFCOX.EQC.0.AND.DY.GT.0.) GO TC 505
IF(DX.EC.0.AND.DOY.LT.0.) GO TC 5190

60 TO 550
505  CO0=0.
. GO TG 600
512 CC=180.
6o TO 600

550 CO=ATANDCOY/Z2X)
IFCOX.GT.0.AN3.0Y.GT.C.) G TO 525
IFCOX.LT.00) 52 TO 530
IFCOX.GT.0.AND.DY,.LT.0.) G2 TC 525
GG TS 609
525 Cd=30C-CC
G3 TG 4C2
539 C0=270.~CD
G2 TC 400
9593 IEegrR=1
500 RETURN
END
SUBROUTINE SHELT(XI,YI,XV,YM,XX,YU,YD,YY,XU,XD,XL,YL,JEEQ,
ILZIILIII)
SIMENSICN XL(500),YLC500),XXC2C0),YUC200),Y2(200)
OIMENSICN YY(200),XUC200),XxCC20C)
JEER=0

c 03 70 K=1,10
{70 NQITE(S,YOIO)XX(K),YU(K)’Y:(K)’YY(K),XU(K),XC‘(K)vXL(K)’YL(K)
TT010  FORMAT(IX,8(F7.2,1X))

XMI=XM=-XTI
YMI=zYM=-YT
IFCAES(X®I).LT.0.01) 4n z
IFCABSCYMID L LT.0.01) GC T¢
B2 570 K=1,11
Y=YMIEXXOK) /X MI+ (Y IeX =Y X T)/XM]
YIOD=CY=-YU(K)I=uC(Y=-YDCK))
YIOI=(Y=-YI)CyY=-Y™)
IFCYIZLLE.OWANCLYICILLEL0) 53 TD 2C1
670 CONTINUE
3C 680 K=1,I1]
XSXMIHYYCK)/YMT+(YMXTI=YIXY)/YMT
XI0=(X=XUCK))i(X=-XD(K))
XIOI={X=XI)sz(X=-xM)
IFCXIOaLZ«04ANCJXICILLELG) GC T 201
5890 CONTINUE
GO TO 800
700 DS 705 K=1,1I1
YIC={YM=YUCKIDI=C(YM=YD(K))
XIC=C(XXCKI=XMI%H(XXCKY=-XT)
TFCYIZ.LELQWAND . XICLLE.0) GC TC 201

-

D n
QO

7
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705

750

755

201
800

CONTINUE
G3 TO 800
3 755 K=1,111

XIG=(XM—XU(K))*(XM—XC(K))
YIO=(YY(K)—YM)*(YY(K)—YI)
IF(XID.LE.O.ANO.YIC.LE.O) GO TC 201

CONTINUE
GO 70 800
JEER=1
RETURN
END



R R R K E R R e

CHARACTER:12 TYNAME,COUTPUT
CHARACTER:=25 NAME
DIMENSICN MM(150), MDC150),MH(150),CNC153),CAC150),PC(C150)
WRITE(S5,10)
10 FORMATC(1X, 'INPUT THE STATION PCSITION',/1X,
=PR2AZX2V,2X,0¥2Y2Y2Y)
REAGD(S,y11)XM, YN
11 FORMAT(FS5.2,2X,F6.2)
SPENCUNIT=10, rILE"TYPFE.bUN',rCQ““':DR“ATTcD',SThTUS '‘CLOY)D
WRITE(S,20)

20 FORMATC(LIX, '"WHICH FILENEME D2 YOU auTrPuT '3)
READ(5,21)0UTPUT

21 FORMET(AL12)
oPEN(CUNI T=2,,?ILE=9UT=UT,:CRM“"”PM‘TTED',STﬁTUS='HEk')

NN=0
119 READ(104,201)TYNAME
201 FORMAT(18Xx,412)
READCL0,202)N3,NYZLR
202 C”RVAT(qu,-g,I%)
IFINDLSC.0) GO T2 5000
Q‘-A Clo, )
QCﬁD(lO’n)

T =
1=

520 READ(12,25 1IMMCId g MOCID W MACI)yCNCID,ZCACIY,POCT)

251 FORMAT(3I2,3XyF5.143X,F5.1,2X,F6.1)
ISCPICI>LEQ.100.) G2 TC 5920
I=I+1
GG 759 520

5090 =I-1

S5 305 K=1,4
IFCPC(K)LEQLO.L) POCK)=PO(K~-1)
MON=MM(K)
MOAY=MDC(K)
MH1=MH(K)
MH2=MH(K+]1)
X1=CMN(K)
Y1=CA(K)
X2=CN(K+1)
Y2=CA(K+1)
CALL DISCX1,Y1,XM,YM,4aM)
CaLt 315(X1,Y1)X21Y2935)
CALL CISCX2,Y2,XM,YM,AC)
CalL ANGULEZ(X2,3Y2,X1,yY1,ALPHa,IFRE)
IFCIERR.ZG.1) GO TC 117
CALL ANGULE(X1,Y1,XM, YMyTHZTA,IERR)
IFCIERR,Z2.1) GO TC 117
CETA=ASSCALPHA-THETA+6S)
IF(52TA.GE.180,) THEN
GAMA=3460,-3ETA
ELSE
GAMA=ZETA

END IF
GC TC 116

117 GAMA=(0.

114 IFCMH2.EQ.¥H1) GC TS 310
IFCMH2 LT "H1) MH2=MH2+24
VE=A3/((MH2-MH1):1.352)
PP3=P3(K)

_.63._
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IFC(PPO.GEL1000.) GG TC 920
DELU=0.54VF:CQSDCGAMA)
P=ABS(YM=-Y1)
A=9Q0.-X1
B=90.,~-XM
DD=60.*ACGSD(1.—(<1.—CCSD(P))$SIND(A)*SIND(3)+(l—CCSD(A—E))))
DO=AM
OELP=(1000.+C¢1000.-PP0)/10.-PPC) /32,86
RPL=(28.SZ*TANH(0.0873#(Y1—28.))+12.ZZ*EXP((PPG—1013.2)/33.86)
+0.2mVERL (R52437,22)/1.852 ’
RK=70.-Y1/7.5
UQ=(RK*SCQT(DELP)—O.2632*SIND(Y1)*RPL—S.965*SIND(Y1))/(1+
—0.0638£::25INDCYL))
UR=RK:SCLRT(OELP)=0.50.526230PL
IFCUR.LELCG.) UR=0.01
QzRPL*EXP((PP”—1013.2)/(33.86*2.3))
IFCUR.LT.100.) G35 TO 51
R=RPL-(CUR=-100.)/6.+5.)
G3 T3 50
2=RPL
EPUR=0.5283x=SINDCY1)RFL/UR
IF(00.5C.0.) D0=0.0001
SUR=UQ*(((O.S*CRUQ*DD/RPL)**2+(1+FRUQ)*<RPL/DO)*EXDCI—RDL/DG))
**O.S—O.S*FRUQ*DO/PFL)
IFCSURLLELDL)SUR=D.1
URA=0.865%UR
SURA=0.845%SUR
URAA=URA+DELY
SURAA=SURA+DELL
WRITECS,3000)FRUR,R,RPL,UR,NN
SORMAT(LIX,'FRUR = 'yER.2,! K = t,e8,.2,! RPL = ',58.2,
' UR = ', E8.2,2X,'NCO: ',15)
PK=7.59—41.ZI*FRU?+160.SI*FRUR**Z.—219.BZ*FQUR**B.
IFCPK.LELD.) GO TC 9290
IF(PX.GE.T7.53) PK=7.59
HR=PK:=SCRTCRPLEDELD)
HRS=PK%#SQRT(RADELP)
WRITE(5,3001)HRS
FORMATC10X,'HRS = ',£23.2)
°2=00/RPL
IFCRR.LEL10.) G5 TC 1060
H13=0.08"HR=ERPL/DC%%Q. S
IFCURA2,LEL0.) H2=0.

CALL PERIDC(HRA,URAA,TA,IEPQ)
IFCIERR.EZ.1) GG TC 112
DTRU=(DC:==TA)/(RPL:URAA)
IFCURAA.LELO.) DTRU=C.
CP=0.0021*0T?U**2.+0.0012*3TRU+1.21
T13=CPxTa

GO TO 114

Ti3=10.0

NAME=+SWELL!

IFCT13.E2.0.) GO TO 111
TLAG=00/(3.6:20.78::T13)

GC TC 112

TLAG=999.9

NN=NN+1
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G4 TC 9900

CALL BRET(FRURyRR,RH,yIERR)

IFCIERR.EQ.1)> GJ TO 9350

IFCRH.GEL1.22) RH=1.2

SHR=HRS:RH

IFCSURAALLE.O.Y SHR=0Q.
IFCSURAA.LT.ABS(DELUY) SURAA=4.:ABS(DELU)
SHRA=SHR:(1+CELU/SURAAY 22,
WRITE(5,3002)SHRA,SHR,DELU,SURAA

FORMATC(LIX,'SHRA= V', E8,2,¢ SHR= ',£8.2," DELU= 'yEB.2,' SuRLA=

1 £8.2)

CAaLL PERIOD(SHRA,SURA,STA,IERR)
IFCIERR.EQ.LL) STA=4.0

H13=SHRA/2,.28

T13=4.:53QRT(STR)

NAME=' WINC!

TLAG=0.0

NMN=NN+1
WRITEC20,y7)TYNAME G NYEAR,MON,MDAY , MH] , NN

FCRMATC(//1Xy "NAME @ ' A12,3X,'TIME CY/M/70/n) 0 Yy 164,2X,12,0 70,

y T/ T2 TX,TND 1 Y, I5)

WRITEC2C,8)X1,Y1,6AMA,VF

FORMATC(LIX,"LAT = ',FS5,1,3X,'LCN = "2FALL,IX L THETA = L, FS L4,
3Xy "MOVEING SPEED = ',F7.2)

WRITEC20,6)H13,T13,NAME,TLAG
FORMATCLIX, " WAVE HEIGHT= ',5£,2,5Y,'PERICD= YaFEL2Z,5X,
'TYPED 'yL5,2X,*TIME LAG= ',F&,1)

GO TC 3Cs

WRITE(S5,911)TYNAME,NYELR
FORMAT(LIX,)212,3X,16,3X,3('TIME ERRLR',5X))
G0 TC 358

WRITE(CS,)321)TYNAME, NYEAR
FORMAT(C1IX,812,3X,I4,3X,3('PP" GF 12300',35x))
GG TO 305

WRITE(S,G931)TYNAMEZNYEAR
FIORMAT(1X9412,23X,14,3X,3('PK LE 0'y35%x))

0 70 30¢

WRITE(E,941)TYNAME NYEAR
SORMATC1X,812,2Xy14,2X,3('PERIDD ERRORY, 2X))
TC 30¢

ITE(3,351)TYNAME,NYEAR
FORMAT(1IX,y212,3X,y14,2X,2(¢'E5ET ERRCR'",2Z2Xx))
CNTINUE

G2 TS 119

CLISECUNIT=19)

CL3ISZ(UNIT=20)

STOP

ENC

USROUTINE PERIOD(X,Y,2,1ERR)

CMMIN X,Y,Z,IERR

B=CaQ X))/ Y2,

IFCA.6Z.1.) G2 TC 10

S=ALCGCC1+8)/7(C1~-A))

C=C0.5%B)x20.5

(a9 ]

b e}
J x

n

w

IERR=0
G3 TQ 1



10 IERR=]

1 RETURN
END
SU3ROUTINE DIS(XA,YA,X5,Y8,000)
XX1=XA*111.324*CGS(YA*3.14159/180.)
YY1=YA111.32¢4
XX2=XB*111.324*COS(YS*3.14159/180.)
YY2=Y8::111.324
DOD=SQRT((XXl—XXZ)**Z.+(YYl—YY2)**2.)
RETURN
END
SUBRGUTINE BRET(FRUR,RR,RATE,IERR)
DIMENSICN AC13),C(10,10),V(10)
CHARACTER::2 pPa
IgERR=)
AC1)=0.
AC2)=0.02
8(3)=0.04
AC43=0.05
A(5>=0.10
8(6)=0.1%
ACT73=0.20
A(8)=0.39
3(33=0.50
€(1,15>=0.10017835¢
C(1,2)=-0.618611%2
C(1,3>=0.14723193¢
C(1,43=-0,1750538¢-
C(1,53=0.1209912¢
CC1,6)=-0,45134415
C(1,73=0.7997333
€(1,3)=0.56421307%
C(2y1)=-0.25238¢-
C{2,23=0.171152~4
C(2,3)=0.9522:=-4
C(2y4)=-0.521E-2
C(2,8)=0.547275-1
C(2y6)=-0.259325
€C2,73>=0.503157¢
C(Z2,y5)=0,70556¢%
CC2,1)=0.0
C(3,2)=-0.81968951€~-5
C(343)=0.37332455-2
C(244)=-0.4657670335-
C(3,2)=0.5758723z~1
C(23,4)=-0.2415305%
C(3,73=0.48603735
C(3,3)=0.72522351
Cl4,1)=-0,410529¢€-¢
€Cs4,2)=0,228-3
C(443)=-0.307225~2
C(4y43=0,200112~1
C4,35)=-0,593316-1
CC4,54)=0.173€6~-1
C(4,7)=0.12855923
C(4,8)=0.83655¢44%
C({5,1)=0.0
C(5,2)=-0.145z2-4

4
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C(5+3)=0.567342¢8~3
C(5,4)=-0.989973ZE-2
C(545)=0.713e-1
C(5,6)=-0.29734355
C(5,7)=0.45821415
C(5,85=0.77636281
C(6,1)=—0.13371897E-4
C(6y2)=0.527970745-3
C(693)=-0.84104135‘2
C(6,4)=0.688573765-1
C(6+,5)=-0.30413751
C(646)=0.69923371
C(6y7)=-0.8973324
C(h98)=1.4709649
C(7,1)=0.9
C(7+2)=-0.137455~4
C(7,3)=0.5212115E-3
C(7,4)=-.7594E~
C(7+5)=0.6265148E-1
C(7y5)=-0.2443¢5
C(7,7)=0.2671735
C(7,8)=0.52671
C(8,1)=0.0
C(842)=-0.23091255¢5—¢
C(8a3)=0.928456335~3
C(3y4)=-0.148877045-1
C(8,5)=0.11905437
C(34+6)=-0.646714977
C(397)=0.60754O91
C(Ry8)=0.74695402
C(9,1)=O.742048235-S
C(9.2)=-0.31812369E-3
C(9,+3)=0.5433 253E-2
C(9:4)=-0.528511185-1
€(3,5)=0.277251340
C($,4)=-0.761353C5
C(9,7)=0.5842147]
C({9492)=20.534775250
[F(RR.LT.1) GG TO 1090
RE=RXR
FA=FRUR
80 190 I=1,9
100 . V(I)=C(I,1)*RE**7+C(I
—+C(I,5):;:QE:;::;:3+ X

C T2 400
232 CCONTINUE
AR=V(3)
52 T2 3500
407 IF(K.EN.1)GO TC 400
HR=((FA--(K-1))/(A(K)-ﬂ(*-l)))
50 T% 560 :
500 HR=v (1)
500 RATE=HR
GG TC 900
1000 RaT:z=3.

BOVIK) =V(K=1))+v(K=-1)



3090

206

RETURN
END

SUBROUTINE ANGULE(leYleZoYZ,ANG,IERR)

IERR=0
AY=Yy1=-Y2
AX=X1-X2
IFC(AX.EQ.D.) GO T 20
ANG=ATANDCAY/ZAX)
IFCAX.GT.0.) THEN
ANG=ANG
ELSE

ANG=ANG+180.
END IF

GC TC 209
IFCAY.50.0.) GG 7o 50
IF(AY.GT.O.)

END IF
GG TC 200
ANG=0,
IERR=]
RETURN

END

— 68 —
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